Easter Subtraction

Solve the following word problems.

Easter is coming and the Easter Bunny has 800
eggs to hide. If he hides 300 eggs on Saturday,
how many eggs does he still have to hide?

The Easter Bunny has 1,000 Easter eggs. He gave
600 eggs to the children. How many eggs does he
have left?

There were 432 people watching the Easter
parade. If 189 people left early, how many people
were still watching?

Mrs. Johnson had 500 jellybeans in a jar. She
shared 298 jellybeans with her neighbors. How
many jellybeans are left in the jar?

A store had 926 Easter bunnies. They sold 600
bunnies on Easter day. How many bunnies are left
in the store?

A chocolate factory produced 925 Easter
chocolates. They sold 550 chocolates on the first
day. How many chocolates are left in the factory?

The Easter Bunny had 900 jelly beans. He put 500
in the Easter eggs. How many jelly beans does he
have left?

Lily had 698 carrots for the Easter bunnies. If she
used 315 carrots, how many carrots does she have
left?
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